J. of Ramanujan Society of Mathematics and Mathematical Sciences Vol. 8, No. 2 (2021), pp. 17-28

ISSN (Online): 2582-5461

ISSN (Print): 2319-1023

RELIABILITY INVOLVING GENERALIZED GAMMA, GENERALIZED FOLDED LOGISTIC DISTRIBUTIONS AND FGM COPULA

Ronald T. Nojosa, Charandeep S. Sodhi* and Pushpa N. Rathie**

Department of Statistics and Applied Mathematics, Federal University of Ceara, 60440-900, Fortaleza, BRAZIL

E-mail: rtargino@ufc.br

*11500 Lago Vista, Apt. 2439, Farmers Branch, Texas 75234, USA

E-mail: sodhi.charan@gmail.com

**Senior Research Collaborator, Departament of Statistics, University of Brasília, 70910-900 Brasília, BRAZIL

E-mail: pushpanrathie@yahoo.com

(Received: May 04, 2021 Accepted: Jun. 04, 2021 Published: Jun. 30, 2021)

Abstract: This paper deals with reliability measure P(Y < X) using FGM copula, when X and Y follow (a) Weibull and generalized gamma distributions, and (b) Rathie-Swamee generalized folded logistic distributions. The use of copula is better and widely employed than doing the classical joint distribution dependence. A few particular cases are also indicated.

Keywords and Phrases: Stress-strength reliability, P(Y < X), FGM copula, Folded Rathie-Swamee, Gamma and Weibull distributions.

2020 Mathematics Subject Classification: 60E05, 62N05.

1. Introduction

In literature, R = P(Y < X) is a measure of component reliability when the component is subjected to a random stress Y and a random strength X. The component fails when the applied stress exceeds the strength. In the book by [6],

X and Y are assumed to be independent or having a joint distribution function. The evaluation of R is more realistic when X and Y are assumed to be dependent. The copula-based approach has been employed by [1, 2], and [10].

For positive X and Y, the measure R is given by

$$R = P(Y < X) = \int_0^\infty \int_0^x h(x, y) dx dy, \tag{1}$$

where

$$h(x,y) = c(F(x), G(y))f(x)g(y).$$
(2)

In this article, we will use the Farlie-Gumbel-Morgenstern (FGM) copula density defined by

$$c(F(x), G(y)) = 1 + \theta(1 - 2F(x))(1 - 2G(y)). \tag{3}$$

Using (2) and (3) in (1), we arrive at the following expression for R:

$$R = R_I + \theta D, \tag{4}$$

where θ is the dependency parameter,

$$R_I = \int_0^\infty G(x)f(x)dx \tag{5}$$

and

$$D = \int_0^\infty G(x)(1 - G(x))(1 - 2F(x))f(x)dx.$$
 (6)

For reliability analysis P(Y < X), bivariate distributions for strength and stress considered were: bivariate normal [3], bivariate exponential [9], bivariate gamma [8], bivariate Pareto [5] and bivariate log-normal [4]. The advantage of copula lies in separating the dependence from joint distribution in a more general setting.

The reliability R = P(Y < X) has applications in physics, engineering, quality control, economics, medicine, etc. See, for example, [12], [11] and [13].

This paper is written as follows: Section 2 presents some known results, definitions of generalized gamma, Weibull and Rathie-Swamee generalized folded logistic distributions. In Section 3, reliability P(Y < X) using FGM copula is obtained for X and Y following (a) Weibull and generalized gamma distributions, and (b) folded Rathie-Swamee distributions, respectively. A few particular cases of the

main theorems are mentioned which involve Weibull and folded logistic distributions. In the last section, we conclude the paper by providing a few conclusions and outline of possible future work.

2. Known Results and Statistical Distributions

The H-function (see [7]), is defined by

$$H_{p,q}^{m,n} \left[x \Big|_{(b_1, B_1), \dots, (b_m, B_m), (b_{m+1}, B_{m+1}), \dots, (b_q, B_q)}^{(a_1, A_1), \dots, (a_n, A_n), (a_{n+1}, A_{n+1}), \dots, (b_q, B_q)} \right]$$

$$= \frac{1}{2\pi i} \int_L \frac{\prod_{j=1}^m \Gamma(b_j - B_j s) \prod_{j=1}^n \Gamma(1 - a_j + A_j s)}{\prod_{j=m+1}^q \Gamma(1 - b_j + B_j s) \prod_{j=n+1}^p \Gamma(a_j - A_j s)} x^s ds, \qquad (7)$$

where A_j and B_j are assumed to be positive quantities and all the a_j and b_j may be complex. The contour L runs from $c-i\infty$ to $c+i\infty$ such that poles of $\Gamma(b_j-B_js)$, $j=1,\ldots,m$, lie to the right of L and the poles of $\Gamma(1-a_j+A_js)$, $j=1,\ldots,n$, lie to the left of L.

The H-function can be expressed in computable form as (see [7]):

When the poles of $\prod_{j=1}^{m} \Gamma(b_j - B_j s)$ are simple, we have

$$H_{p,q}^{m,n}(x) = \sum_{h=1}^{m} \sum_{\nu=0}^{\infty} \frac{\prod_{j=1\neq h}^{m} \Gamma\left(b_{j} - B_{j} \frac{b_{h} + \nu}{B_{h}}\right)}{\prod_{j=m+1}^{q} \Gamma\left(1 - b_{j} + B_{j} \frac{b_{h} + \nu}{B_{h}}\right)} \times \frac{\prod_{j=1}^{n} \Gamma\left(1 - a_{j} + A_{j} \frac{b_{h} + \nu}{B_{h}}\right)}{\prod_{j=m+1}^{p} \Gamma\left(a_{j} - A_{j} \frac{b_{h} + \nu}{B_{h}}\right)} \frac{(-1)^{\nu} x^{(b_{h} + \nu)/B_{h}}}{\nu!B_{h}},$$
(8)

for $x \neq 0$ if $\delta > 0$ and for 0 < |x| < w if $\delta = 0$, where $\delta = \sum_{j=1}^{q} B_j - \sum_{j=1}^{p} A_j$ and $w = \prod_{j=1}^{p} A_j^{A_j} / \prod_{j=1}^{q} B_j^{B_j}$.

When the poles of $\prod_{j=1}^{n} \Gamma(1 - a_j + A_j s)$ are simple, we have

$$H_{p,q}^{m,n}(x) = \sum_{h=1}^{n} \sum_{\nu=0}^{\infty} \frac{\prod_{j=1\neq h}^{n} \Gamma\left(1 - a_{j} - A_{j} \frac{1 - a_{h} + \nu}{A_{h}}\right)}{\prod_{j=n+1}^{p} \Gamma\left(a_{j} + A_{j} \frac{1 - a_{h} + \nu}{A_{h}}\right)} \times \frac{\prod_{j=1}^{m} \Gamma\left(b_{j} + B_{j} \frac{1 - a_{h} + \nu}{A_{h}}\right)}{\prod_{j=m+1}^{q} \Gamma\left(1 - b_{j} - B_{j} \frac{1 - a_{h} + \nu}{A_{h}}\right)} \frac{(-1)^{\nu} (1/x)^{(1 - a_{h} + \nu)/A_{h}}}{\nu! A_{h}},$$
(9)

for $x \neq 0$ if $\delta < 0$ and for |x| > w if $\delta = 0$.

$$I_{s,a,b}^{\lambda,\lambda_1} = \int_0^\infty y^{s-1} \exp(-ay^{\lambda} - by^{\lambda_1}) dy$$
 (10)

(using [7, p.60])

$$= \lambda^{-1} a^{-\frac{s}{\lambda}} H_{1,1}^{1,1} \left[b a^{\frac{-\lambda_1}{\lambda}} \middle|_{(0,1)}^{(1-\frac{s}{\lambda}, \frac{-\lambda_1}{\lambda})} \right]$$

$$\tag{11}$$

(using(8))

$$= \lambda^{-1} a^{-\frac{s}{\lambda}} \sum_{\nu=0}^{\infty} \Gamma\left(\frac{s + \lambda_1 \nu}{\lambda}\right) \frac{(-ba^{-\frac{\lambda_1}{\lambda}})^{\nu}}{\nu!},\tag{12}$$

valid for $Re(a, b, \lambda, \lambda_1, s) > 0$.

Generalized-Gamma distribution has density and distribution functions given by

$$f(x) = \frac{\gamma_1 \beta_1^{\frac{\alpha_1}{\gamma_1}}}{\Gamma\left(\frac{\alpha_1}{\gamma_1}\right)} x^{\alpha_1 - 1} \exp(-\beta_1 x^{\gamma_1})$$
 (13)

and

$$F(x) = \frac{(\beta_1 x^{\gamma_1})^{\frac{\alpha_1}{\gamma_1}}}{\Gamma\left(1 + \frac{\alpha_1}{\gamma_1}\right)} {}_1F_1\left(\frac{\alpha_1}{\gamma_1}; \frac{\alpha_1}{\gamma_1} + 1; -\beta_1 x^{\gamma_1}\right),\tag{14}$$

respectively, where α_1 , β_1 , γ_1 , x > 0.

Alternately, (14) may be written as

$$F(x) = a \sum_{r=0}^{\infty} a_r x^{\gamma_1 r + \alpha_1}, \tag{15}$$

$$a = \frac{\beta_1^{\frac{\alpha_1}{\gamma_1}}}{\Gamma\left(\frac{\alpha_1}{\gamma_1}\right)} \tag{16}$$

and

$$a_r = \frac{(-\beta_1)^r}{r!(\frac{\alpha_1}{\gamma_1} + r)}. (17)$$

Weibull distribution has density and distribution functions as

$$g(x) = \beta_2 \gamma_2 x^{\gamma_2 - 1} \exp(-\beta_2 x^{\gamma_2}) \tag{18}$$

and

$$G(x) = 1 - \exp(-\beta_2 x^{\gamma_2}),$$
 (19)

respectively, where β_2 , γ_2 , x > 0.

For $X \sim RS(a,b,p)$, $a,b \geq 0$ (both a and b are not zeros simultaneously), $p \geq -1$, $x \in (0,\infty)$, the Rathie-Swamee [14, 15] density and distribution functions are defined as

$$f(x) = \frac{2[a+b(p+1)x^p]\exp[-x(a+bx^p)]}{\{1+\exp[-x(a+bx^p)]\}^2}$$
(20)

and

$$F(x) = \frac{1 - \exp[-x(a + bx^p)]}{1 + \exp[-x(a + bx^p)]} = \frac{2}{1 + \exp[-x(a + bx^p)]} - 1.$$
 (21)

3. Reliability using FGM Copula

In this section, we derive two main theorems for the reliability R using FGM copula given in (1) when (a) X has generalized gamma distribution and Y has Weibull distribution and (b) X and Y have folded Rathie-Swamee distributions with different parameters.

3.1. Reliability using Weibull and Generalized Gamma Distributions

The following theorem for reliability R = P(Y < X) is established in this section:

Theorem 1. Let $X \sim GG(\alpha_1, \beta_1, \gamma_1)$ and $Y \sim GG(\gamma_2, \beta_2, \gamma_2)$. Then

$$R = P(Y < X) = R_I + \theta D, \tag{22}$$

$$R_I = 1 - \frac{\gamma_1 \beta_1^{\frac{\alpha_1}{\gamma_1}}}{\Gamma\left(\frac{\alpha_1}{\gamma_1}\right)} I_{\alpha_1,\beta_1,\beta_2}^{\gamma_1,\gamma_2} \tag{23}$$

and

$$D = \gamma_1 a \left[I_{\alpha_1, \beta_1, \beta_2}^{\gamma_1, \gamma_2} - I_{\alpha_1, \beta_1, 2\beta_2}^{\gamma_1, \gamma_2} - 2a \sum_{r=0}^{\infty} a_r I_{2\alpha_1 + \gamma_1 r, \beta_1, \beta_2}^{\gamma_1, \gamma_2} + 2a \sum_{r=0}^{\infty} a_r I_{2\alpha_1 + \gamma_1 r, \beta_1, 2\beta_2}^{\gamma_1, \gamma_2} \right],$$
(24)

with $I_{s,a,b}^{\lambda,\lambda_1}$, a, a_r given respectively in (10), (16) and (17). **Proof.** From (5), (13) and (19), we have

$$R_{I} = \int_{0}^{\infty} \left[1 - \exp(-\beta_{2}x^{\gamma_{2}})\right] \frac{\gamma_{1}\beta_{1}^{\frac{\alpha_{1}}{\gamma_{1}}}}{\Gamma\left(\frac{\alpha_{1}}{\gamma_{1}}\right)} x^{\alpha_{1}-1} \exp(-\beta_{1}x^{\gamma_{1}}) dx$$

$$= 1 - \frac{\gamma_{1}\beta_{1}^{\frac{\alpha_{1}}{\gamma_{1}}}}{\Gamma\left(\frac{\alpha_{1}}{\gamma_{1}}\right)} \int_{0}^{\infty} x^{\alpha_{1}-1} \exp(-\beta_{1}x^{\gamma_{1}} - \beta_{2}x^{\gamma_{2}}) dx$$

$$= 1 - \frac{\gamma_{1}\beta_{1}^{\frac{\alpha_{1}}{\gamma_{1}}}}{\Gamma\left(\frac{\alpha_{1}}{\gamma_{1}}\right)} I_{\alpha_{1},\beta_{1},\beta_{2}}^{\gamma_{1},\gamma_{2}}.$$

Also, from (6), (13), (14) and (19) we get

$$D = \int_{0}^{\infty} G(x)[1 - G(x)][1 - 2F(x)]f(x)dx$$

$$= \int_{0}^{\infty} [1 - \exp(-\beta_{2}x^{\gamma_{2}})] \exp(-\beta_{2}x^{\gamma_{2}}) \left(1 - 2a\sum_{r=0}^{\infty} a_{r}x^{\gamma_{1}r + \alpha_{1}}\right)$$

$$\gamma_{1}ax^{\alpha_{1}-1} \exp(-\beta_{1}x^{\gamma_{1}})dx$$

$$= \gamma_{1}a \int_{0}^{\infty} x^{\alpha_{1}-1} \exp(-\beta_{1}x^{\gamma_{1}} - \beta_{2}x^{\gamma_{2}}) \left[1 - \exp(-\beta_{2}x^{\gamma_{2}})\right]$$

$$-2a\sum_{r=0}^{\infty} a_{r}x^{\gamma_{1}r + \alpha_{1}} + 2a\sum_{r=0}^{\infty} a_{r}x^{\gamma_{1}r + \alpha_{1}} \exp(-\beta_{2}x^{\gamma_{2}})\right] dx$$

$$= \gamma_{1}a \left[I_{\alpha_{1},\beta_{1},\beta_{2}}^{\gamma_{1},\gamma_{2}} - I_{\alpha_{1},\beta_{1},2\beta_{2}}^{\gamma_{1},\gamma_{2}} - 2a\sum_{r=0}^{\infty} a_{r}I_{2\alpha_{1}+\gamma_{1}r,\beta_{1},\beta_{2}}^{\gamma_{1},\gamma_{2}} + 2a\sum_{r=0}^{\infty} a_{r}I_{2\alpha_{1}+\gamma_{1}r,\beta_{1},2\beta_{2}}^{\gamma_{1},\gamma_{2}}\right]$$

The following particular case of Theorem 1 for $X \sim GG(\phi_1, \theta_1, \phi_1)$ and $Y \sim GG(\phi_2, \theta_2, \phi_2)$ can be derived or proved independently:

Corollary 1. For the Weibull distributions, the reliability R is given by

$$R = R_I + \theta D \tag{25}$$

where

$$R_I = 1 - \theta_1 \phi_1 I_{\phi_1, \theta_1, \theta_2}^{\phi_1, \phi_2} \tag{26}$$

and

$$D = \theta_1 \phi_1 \left[2I_{\phi_1, 2\theta_1, \theta_2}^{\phi_1, \phi_2} + I_{\phi_1, \theta_1, 2\theta_2}^{\phi_1, \phi_2} - 2I_{\phi_1, 2\theta_1, 2\theta_2}^{\phi_1, \phi_2} - I_{\phi_1, \theta_1, \theta_2}^{\phi_1, \phi_2} \right]. \tag{27}$$

3.2. Reliability using Folded Rathie-Swamee Distribution

In this subsection, we obtain the reliability R when X and Y follow generalized folded logistic distribution.

Theorem 2. The probability P(Y < X), $X \sim RS(a_1, b_1, p)$ and $Y \sim RS(a_2, b_2, p)$, is given by

$$R = P(Y < X) = R_I + \theta D, \tag{28}$$

where

$$R_I = 4I_{1,2} - 1 (29)$$

and

$$D = 4(9I_{1,2} - 6I_{2,2} - 3/2 - 12I_{1,3} + 8I_{2,3} + 4I_{0,3}), \tag{30}$$

with $I_{\alpha,\beta}$ given in (33) with $I_{s,a,b}^{\lambda,\lambda_1}$ in (10).

Proof. For $X \sim RS(a_1, b_1, p)$ and $Y \sim RS(a_2, b_2, p)$ with distribution functions F(x) and G(y), respectively, D is given by

$$D = \int_0^\infty \left\{ \frac{2}{1 + \exp[-x(a_2 + b_2 x^p)]} - 1 \right\} 2 \left\{ 1 - \frac{1}{1 + \exp[-x(a_2 + b_2 x^p)]} \right\}$$

$$\left\{ 3 - \frac{4}{1 + \exp[-x(a_1 + b_1 x^p)]} \right\} \frac{2[a_1 + b_1(p+1)x^p] \exp[-x(a_1 + b_1 x^p)]}{\{1 + \exp[-x(a_1 + b_1 x^p)]\}^2} dx.$$
(31)

Let
$$D_1 = 1 + \exp[-x(a_1 + b_1 x^p)]$$
 and $D_2 = 1 + \exp[-x(a_2 + b_2 x^p)]$, then
$$D = 4 \int_0^\infty \left[\frac{9}{D_2} - \frac{6}{D_2^2} - 3 - \frac{12}{D_1 D_2} + \frac{8}{D_2^2 D_1} + \frac{4}{D_1} \right]$$

$$\frac{[a_1 + b_1 (p+1) x^p] \exp[-x(a_1 + b_1 x^p)]}{D_1^2} dx$$

$$= 4 \int_0^\infty [a_1 + b_1 (p+1) x^p] \exp[-x(a_1 + b_1 x^p)]$$

$$\left[\frac{9}{D_2 D_1^2} - \frac{6}{D_2^2 D_1^2} - \frac{3}{D_1^2} - \frac{12}{D_2 D_1^3} + \frac{8}{D_2^2 D_1^3} + \frac{4}{D_1^3} \right] dx$$

$$= 4[9I_{1,2} - 6I_{2,2} - 3I_{0,2} - 12I_{1,3} + 8I_{2,3} + 4I_{0,3}], \tag{32}$$

$$I_{\alpha,\beta} = \int_{0}^{\infty} \left\{ a_{1} + b_{1}(p+1)x^{p} \right] \exp\left[-x(a_{1} + b_{1}x^{p})\right] \right\} D_{2}^{-\alpha} D_{1}^{-\beta} dx$$

$$= \sum_{r=0}^{\infty} \frac{(-1)^{r}(\alpha)_{r}}{r!} \sum_{s=0}^{\infty} \frac{(-1)^{s}(\beta)_{s}}{s!} \int_{0}^{\infty} \left[a_{1} + b_{1}(p+1)x^{p}\right]$$

$$\exp\left[-x(a_{1} + b_{1}x^{p}) - rx(a_{2} + b_{2}x^{p}) - sx(a_{1} + b_{1}x^{p})\right] dx$$

$$= \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(\alpha)_{r}(\beta)_{s}}{r!s!} \int_{0}^{\infty} \left[a_{1} + b_{1}(p+1)x^{p}\right]$$

$$\exp\left\{-x\left[a_{1}(1+s) + a_{2}r\right] - x^{p+1}\left[b_{1}(1+s) + b_{2}r\right]\right\} dx$$

$$= \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(\alpha)_{r}(\beta)_{s}}{r!s!} \left[a_{1}I_{1, a_{1}(1+s) + a_{2}r, b_{1}(1+s) + b_{2}r} + b_{1}(p+1)I_{p+1, a_{1}(1+s) + a_{2}r, b_{1}(1+s) + b_{2}r}\right]. \tag{33}$$

$$(1+x)^{-\gamma} = \sum_{r=0}^{\infty} \frac{(\gamma)_r (-x)^r}{r!},$$
(34)

$$D_2^{-1} = \sum_{r=0}^{\infty} (-1)^r \exp[-rx(a_2 + b_2 x^p)], \tag{35}$$

$$D_2^{-2} = \sum_{r=0}^{\infty} (1+r)(-1)^r \exp[-rx(a_2 + b_2 x^p)], \tag{36}$$

$$D_1^{-2} = \sum_{s=0}^{\infty} (1+s)(-1)^s \exp[-sx(a_1+b_1x^p)], \tag{37}$$

$$D_1^{-3} = \frac{1}{2} \sum_{s=0}^{\infty} (2+s)(1+s)(-1)^s \exp[-sx(a_1+b_1x^p)].$$
 (38)

Now

$$R_{I} = \int_{0}^{\infty} G(x)f(x)dx$$

$$= \int_{0}^{\infty} \left\{ \frac{2}{1 + \exp[-x(a_{2} + b_{2}x^{p})]} - 1 \right\} \frac{2[a_{1} + b_{1}(p+1)x^{p}] \exp[-x(a_{1} + b_{1}x^{p})]}{\{1 + \exp[-x(a_{1} + b_{1}x^{p})]\}^{2}} dx$$

$$= J_{1} - J_{2}, \tag{39}$$

where

$$J_1 = 4 \int_0^\infty \frac{[a_1 + b_1(p+1)x^p] \exp[-x(a_1 + b_1x^p)]}{\{1 + \exp[-x(a_2 + b_2x^p)]\}\{1 + \exp[-x(a_1 + b_1x^p)]\}^2} dx = 4I_{1,2}$$
 (40)

and

$$J_2 = 2 \int_0^\infty \frac{[a_1 + b_1(p+1)x^p] \exp[-x(a_1 + b_1x^p)]}{\{1 + \exp[-x(a_1 + b_1x^p)]\}^2} dx = 2I_{0,2} = 1.$$
 (41)

Hence,

$$R_I = 4I_{1,2} - 1.$$

For $b_1 = 0 = b_2$, in (33), we have

$$I_{\alpha,\beta} = \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(\alpha)_r(\beta)_s}{r!s!} \left[a_1 I_{1, a_1(1+s)+a_2r, 0}^{1, p+1} \right]$$
$$= a_1 \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(\alpha)_r(\beta)_s}{r!s!} \left[a_1(1+s) + a_2r \right]^{-1}. \tag{42}$$

For b = 0, we get

$$I_{t,a,0}^{\lambda,\lambda_1} = \lambda^{-1} a^{-t/\lambda} \Gamma(t/\lambda). \tag{43}$$

Corollary 2. For $b_1 = b_2 = 0$, we deduce the following result for the reliability for folded logistic distribution:

$$P(Y < X) = R_I + \theta D, \tag{44}$$

$$R_{I} = 4I_{1,2} - 1$$

$$= 4\sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(1)_{r}(2)_{s}}{r!s!} \left[a_{1}I_{1, a_{1}(1+s)+a_{2}r, 0}^{1, p+1} + 0 \right] - 1$$

$$(using(43))$$

$$= 4\sum_{r=0}^{\infty} \sum_{s=0}^{\infty} (-1)^{r+s}(1+s)a_{1}[a_{1}(1+s) + a_{2}r]^{-1}\Gamma(1) - 1$$

$$= 4a_{1}\sum_{r=0}^{\infty} \sum_{s=0}^{\infty} (-1)^{r+s} \frac{1+s}{a_{1}(1+s)+a_{2}r} - 1$$

$$(45)$$

and

$$D = 4[9I_{1,2} - 6I_{2,2} - 3/2 - 12I_{1,3} + 8I_{2,3} + 4I_{0,3}]$$

$$= 4a_1 \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}}{r!s!} [a_1(1+s) + a_2r]^{-1} A_{r,s} - 6,$$
(46)

where

$$A_{r,s} = [9(1)_r(2)_s - 6(2)_r(2)_s - 12(1)_r(3)_s + 8(2)_r(3)_s + 4(0)_r(3)_s]$$

$$= 9r!(s+1)! - 6(1+r)!(1+s)! - 6r!(2+s)! + 4(1+r)!(2+s)!$$

$$= 3r!s![3(s+1) - 2(1+r)(1+s) - 2(2+s)(1+s) + \frac{4}{3}(1+r)(2+s)(1+s)]$$

$$= r!s!(s+1)(1-2r)(7+2s). \tag{47}$$

Hence

$$D = 4a_1 \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} (-1)^{r+s} [a_1(1+s) + a_2 r]^{-1} [(s+1)(7+2s)(1-2r)] - 6.$$
 (48)

Corollary 3. For X and Y independent, we have

$$P(Y < X) = R_I = 4I_{1,2} - 1, (49)$$

where

$$I_{1,2} = \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s} (1)_r (2)_s}{r! s!} \left[a_1 I_{1, \ a_1(1+s) + a_2 r, \ b_1(1+s) + b_2 r}^{1, \ p+1} + b_1 (p+1) I_{p+1, \ a_1(1+s) + a_2 r, \ b_1(1+s) + b_2 r}^{1, p+1} \right],$$

$$(50)$$

with $I_{t,a,b}^{\lambda,\lambda_1}$ given in (10). For p = 0 in (50), we have

$$I_{1,2} = \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} (-1)^{r+s} (1+s) \left[a_1 I_{1, a_1(1+s)+a_2r, b_1(1+s)+b_2r}^{1,1} + b_1 I_{1, a_1(1+s)+a_2r, b_1(1+s)+b_2r}^{1,1} \right]$$

$$= \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s} (1+s) (a_1+b_1)}{(a_1+b_1)(1+s) + (a_2+b_2)r}.$$
(51)

Thus with p = 0, X and Y independent:

$$P(Y < X) = 4(a_1 + b_1) \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(1+s)}{(a_1 + b_1)(1+s) + (a_2 + b_2)r} - 1.$$
 (52)

Corollary 4. When $b_1 = b_2 = 0$, and X and Y independent folded logistic distributions, we have the following result on using (45):

$$P(Y < X) = 4a_1 \sum_{r=0}^{\infty} \sum_{s=0}^{\infty} \frac{(-1)^{r+s}(1+s)}{a_1(1+s) + a_2 r} - 1.$$
 (53)

4. Conclusions

Mathematical expressions for the reliability measure P(Y < X) are obtained by using FGM copula when X and Y follow (a) generalized gamma and Weibull distributions, and (b) Rathie-Swamee generalized folded logistic distributions. A few particular cases of importance are mentioned.

In a future paper, the authors plan to apply FGM and other copulas to other statistical distributions to calculate the reliability P(Y < X) and to analyze real data sets as possible applications.

References

- [1] Domma, Filippo and Giordano, Sabrina, A stress-strength model with dependent variables to measure household financial fragility, Statistical Methods & Applications, 21 (3) (2012), 375-389.
- [2] Domma, Filippo and Giordano, Sabrina, A copula-based approach to account for dependence in stress-strength models, Stat Papers, 54 (2013), 807-826.
- [3] Gupta, R. C. and Subramanian, S., Estimation of reliability in a bivariate normal distribution with equal coefficients of variation, Communications in Statistics Simulation and Computation, 27 (1998), 675-698.

- [4] Gupta, Ramesh C. and Ghitany, M. E. and Al-Mutairi, D. K., Estimation of reliability from a bivariate log-normal data, Journal of Statistical Computation and Simulation, 83 (6) (2013), 1068-1081.
- [5] Hanagal, D. D., Note on estimation of reliability under bivariate Pareto stress-strength model, Statistical Papers, 38 (1997), 453-459.
- [6] Kotz, S. and Lumelskii, Y. and Pensky, M., The Stress-Strength Models and its Generalizations, London: World Scientific, 2003.
- [7] Mathai, A. M. and Saxena, Ram Kishore and Haubold, Hans J., The H-function: Theory and Applications, Springer, New York, 2010.
- [8] Nadarajah, S., Reliability for some bivariate gamma distributions, Mathematical Problems in Engineering, (2005), 151-163.
- [9] Nadarajah, S. and Kotz, S., Reliability for some bivariate exponential distributions, Mathematical Problems in Engineering, (2006), 1-14.
- [10] Nelsen, R. B., An Introduction to Copulas, Springer Series in Statistics, 2006.
- [11] Ozelim, Luan Carlos de Sena Monteiro and Rathie, Pushpa Narayan, Linear combination and reliability of generalized logistic random variables, European Journal of Pure and Applied Mathematics, 12 (2019), 722-733.
- [12] Ozelim, Luan Carlos Sena Monteiro and Otiniano, Cira Etheowalda Guevara and Rathie, Pushpa Narayan, On The Linear Combination Of N Logistic Random Variables And Reliability Analysis, South East Asian Journal of Mathematics and Mathematical Sciences, 12 (2) (2016), 19-34.
- [13] Rathie, P. N. and Ozelim, L. C. S. M., Exact and approximate expressions for the reliability of stable Lévy random variables with applications to stock market modelling, Journal of Computational and Applied Mathematics, 321 (2017), 314-322.
- [14] Rathie, P. N., Normal distribution, univariate. In Lovric, M., editor, International Encyclopedia of Statistical Science, pages 1012-1013. Springer Berlin Heidelberg, 2011.
- [15] Rathie, Pushpa Narayan and Swamee, Prabhata K, On a new invertible generalized logistic distribution approximation to normal distribution, Technical Research Report, Dept. of Stat., Univ. of Brasilia (2006).